EAGRAROBREERT — 2 N— IBISH —F

2021588158 (B) 4B/M\&2H

mﬂﬁ% 3t 1BI75X (BRE) T2 EEDE IR
[A&4] 1 % :7,600,000 @ ~ 2 3 :3,000,000 /33 :1,900,000 @ 4 3%&:1,100,000  ~ 5 7% :760,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
= g . FERER . - . . ket (EX)
: 3| T HN—4 o4 = 527_§ 1-1 35.1]97.3| 5 fgs) jg%;gg
R:YZRE2—3IZ28— B:xq417-)L S S
89 # 3 | REEIZ 57.5 2-2 35.2 | 95.1 1 484 | BB (EH)
oWl 5| LYy 7 [B] 52.0 (1 1/2) (o) | () =ietiis
LTAIWNTTFY— Bt —2—L-—UH e
— N R AEAM - AHRR— (EX)
3 1077 > —<> 3 A49.0 (2581'/02> &3 %.5) 899 2 :ii s
Z:A—-KHpF+a7 B:F7VCIN—=h HET77—L
o 4 5 | BERIERX 58.0 13-12 | 34.5| 90.0 | 6 522 | EERER (FH)
4|5/8|®TINAY— 55.0 &) o) | BB IARSF 55Ty KR
A:Graydar £ :Miss Luna Springland Farm
R - BHF . = . . FEHBRA (FER)
sl 7vy—nzsn # 3 A (535379) 8-8 34.9| 90.0 | 3 :1_764) i
Rir—7TFa BieTLy—T—> IVT5 7T — I
= S 4 | REAE 58.2 10-10 [ 34.9| 87.9 | 13 | 506 |=AE (EX)
6/5/7| 71 hv> [B] " 4540 (1 1/4) () | B ZEA-NT T2
L:IA2>T7Fy2a BiNALAY— #H B
5 4 4 | BEERE 58.3 3-5 35.8| 87.4 | 7 500 | &EFRM (BH)
718l14|NF¥F/F—R 55.0 (7€) () |E@EET
x>y /x€x BNXIT-7 T EAtE
Q 4 5 | HEES 58.3 10-10 35.1| 86.8 | 4 442 |MATRE (ER)
8 9|®NZRFr—L 55.0 (7E) () |FHBE
R:O—-K$HF0O7 BLFFv—L FATAT7—L
N N WERS — TEBX (EXR)
9 4 YIRSy 4 3 512_0 (5;3;}) 5-3 35.7| 85.9 | 12 (4&4) ki
[y N 1% s S SUAT S N AT N =bye)
B 5 | REHEE 58.4 5-5 35.7| 85.9 | 1 460 |BOEN (RR)
10 2 | 27 [B] 55.0 F52) (a) | BABREE
L:A—-—KHFA7 B:I7T v 47— HET77— L
= 58 3 | HALGAF 58.5 8-9 35.5| 84.8 | 8 470 | REET (RR)
11)7[12| 771 >3 [B] 0] e (76) (1) | U0 O—FR-2557
L:O—KHFO7 BAEZLITAILEF vy b FATAT7— I
NS 3 | X 58.6 5-7 35.9| 84.0 | 10 | 456 |HEFE (BR)
12| 8|13l 7z —7F*x T+~ [B] # 54.0 (3/4) (-10) | A=
R:GATATv— B:yavrriex SZEHE
¢H “ B3 | HHEB 59.6 10-13 [ 36.3| 74.3 | 9 520 | KIFEA (BER)
1317 |11| NHAYZAN=T ¥51.0 ©) o | ) X
LNnN—=v9y34 B:vYrTIR% PRte]
. s 5 | ESEME 1:00.3 14-14 | 36.3| 67.5 | 14 | 460 |BREBFIZ (=)
1|l ®771Ty ~ [B] 55.0 (4) o) | B YGGH-2757
Z:O—LiLFLf4a B RNAIINLE— (e
@ 21 L
£y 45.5-35.1
NO>24 L | 11.8-10.4-11.1-11.6-12.4
® I—F—&EBIERL
13—7-
23—7F—
§T=5r= 3,5(10,14) (2,4,13) (1,12) (7,9,11)8-6
Mal=5r= 3,5(4,10) (2,14)13,1,12(7,9)8-11-6
[ N
B R 3 1,1500 | | 71 K 3-5 1,090 | | # = 3-4 2,540 | | 3:E& 3-5-10 6,500
# B 3 370M 3-10 1,840M B E Bg0 2,670 JEH Baoallll) 39,100
5 180H4 5-10 440 B H 3-5 5,760M
10 1909

ARICOVWTRDTEEERROODE. TR LIV,




